Beregn procenter af decimaler

6,7 x 80% =

0, 74 x 80% =

8,45 x 60% =

0,83 x20% =

6,57 x 90% =

7,05 % 90% =

1,43 x 90% =

1,51 x20% =

5,95 x60% =

5,19 x 80% =

Dato: Score:

6, 36 x 60% =

2,88 x 80% =

6, 12 x 90% =

6,5 x 80% =

8, 82 x 60% =

8,03 x 60% =

7,56 x 10% =

9,79 x70% =

7,91 x90% =

0,63 x 30% =
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Beregn procenter af decimaler

Navn:

6,7 x 80% = 5.36

0,74 x 80% = 0.592

8,45 x60% = 5.07

0, 83 x20% = 0.166

6,57 x90% = 5913

7,05 x 90% = 6.345

1,43 x90% = 1.287

1,51 x20% = 0.302

5,95 x 60% = 3.57

5,19 x80% = 4.152

Dato:

6,36 x 60% = 3.816

2,88 x 80% = 2.304

6, 12 x 90% = 5.508

6,5 x80%=5.2

8, 82 x 60% = 5.292

8,03 x60% =4.818

7,56 x 10% = 0.756

9,79 x70% = 6.853

7,91 x90% =7.119

0,63 x 30% = 0.189
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